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S (8.3) (8.2) (8.1) (8.0) (9.6) (A10.5)
S AS AL 7bD 4 4 4 4 4 0
me=en i rlo (L.8) (1.7) (1.7) (1.7) (1.8) (0.0)
20| o4 7} 2 2 2 2 0 2
T (0.9) (0.9) (0.9) (0.8) (0.0) (¥100.0)
s 23 23 1 1 1 22
sT= (10.1) (9.9) (0.4) (0.4) (0.5) (¥95.7)
S| 18 18 9 8 6 -12
=o° (7.9) (7.7) (3.8) (3.4) 2.7) (¥66.7)
sicrole 10 10 48 48 43 33
cm= (4.4) (4.3) (20.4) (20.2) (19.6) (A330.0)
71E} 10 10 3 3 3 7
(4.4) (4.3) (1.3) (1.3) (1.4) (¥70.0)
=7 228 233 235 238 219 9

(100.0) (100.0) (100.0) (100.0) (100.0) (¥3.9)

- ofets : =901,

- J|El: TIEPE UES FOM XIFSIA| 2 EBRE et

&, HolE2o], IRH0IE, 22RXIHE o]
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E. AZE Hox} Fo0f: 234 127]~244 1&27|

(F.'-E. 11 Az® xHoix} 0]: 234 127]| ~ 244 127]

1) 88 XA Hoixh sh(B)

gl : S 7] S0t 515 Ol AUIZAIRI0N Hofst O[0] U= HoiRt 2

rek

<H [1-1-1> 48 XA Hojxt #g F0|: 233 127 ~ 243 127]
(MESEEA, BAZHA|, tREHA|, AHBAA, BT, HHBHA])
(SR &, % /| AS7LVLL)
g 234 234 234 234 244 HASI|CHY|
= 1/487]  2/487]  3/487]  4/427| 1/487]  BZE)
Cird 3,888 3,793 3,661 4,080 4105 217
=e (60.9) (61.0) (61.1) (62.2) (62.8) (A5.6)
M o 2,496 2,424 2,328 2,480 2,432 64
(39.1) (39.0) (38.9) (37.8) (37.2) (¥2.6)
Al 6,384 6,217 5,989 6,560 6,537 153
(100.0) (100.0) (100.0) (100.0) (100.0) (A2.4)
A 1,414 1,425 1,418 1,510 1,607 193
=e (47.1) (47.2) (46.8) (48.7) (49.5) (A13.6)
e o4 1,585 1,596 1,613 1,591 1,641 56
= (52.9) (52.8) (53.2) (51.3) (50.5) (A3.5)
Al 2,999 3,021 3,031 3,101 3,248 249
(100.0) (100.0) (100.0) (100.0) (100.0) (A8.3)
Cixd 1,132 1,126 1,139 1,203 1,280 148
=e (52.0) (51.8) (52.4) (52.4) (54.4) (A13.1)
e o 1,044 1,049 1,036 1,093 1,072 28
< (48.0) (48.2) (47.6) (47.6) (45.6) (A2.7)
Al 2,176 2,175 2,175 2,296 2,352 176
(100.0) (100.0) (100.0) (100.0) (100.0) (A8.1)
A 1,275 1,311 1,268 1,253 1,266 9
=e (52.8) (53.4) (53.1) (52.8) (53.4) (v0.7)
o o4 1,139 1,142 1,118 1,121 1,107 -32
== (47.2) (46.6) (46.9) (47.2) (46.6) (v2.8)
Al 2,414 2,453 2,386 2,374 2,373 41
(100.0) (100.0) (100.0) (100.0) (100.0) (WL.7)
A 804 816 799 834 813 9
=e (44.5) (45.4) (44.4) (44.0) (44.7) (Al1)
. o4 1,001 982 1,000 1,063 1,004 3
T (55.5) (54.6) (55.6) (56.0) (55.3) (A0.3)
Al 1,805 1,798 1,799 1,897 1,817 12
(100.0) (100.0) (100.0) (100.0) (100.0) (A0.7)
A 423 400 414 457 439 16
=e (46.1) (44.7) (45.1) (46.2) (46.4) (A3.8)
o o4 495 494 503 533 507 12
= (53.9) (55.3) (54.9) (53.8) (53.6) (A2.4)
Al 918 894 917 990 946 28

(100.0) (100.0) (100.0) (100.0) (100.0) (A3.1)
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<H I1-1-2> MY XA Hofxt sig

SN, MEEEXRA,

|,

HE ||, ASY #oixt Z0|: 23 157]~244 187

g F0|: 234 127] ~
EHELD ZMULC ME

(

24 187|
EMxIK| )

CIRl: F, % / ASILVLR)

HASI|cH
= 234 234 234 234 2444 "
- 14271 2/4201 34871 44 Al o
S :l('E)
i 389 384 373 361 372 -17
= (49.8) (49.6) (49.0) (48.6) (49.4) (W4.4)
ou ot 392 390 388 382 381 -11
. ° (50.2) (50.4) (51.0) (51.4) (50.6) (v2.8)
- 781 774 761 743 753 28
e (100.0) (100.0) (100.0) (100.0) (100.0) (¥3.6)
i 66 71 68 71 69 3
= (48.9) (49.7) (46.9) (45.8) (45.4) (A4.5)
N ot 69 72 77 84 83 14
< ° (51.1) (50.3) (53.1) (54.2) (54.6) (A20.3)
A 135 143 145 155 152 17
(100.0) (100.0) (100.0) (100.0) (100.0) (A12.6)
Cixd 2,400 2,425 2,326 2,526 2,595 195
= (53.7) (53.9) (53.8) (54.6) (54.9) (A8.1)
2] ol 2,070 2,073 1,997 2,100 2,128 58
(46.3) (46.1) (46.2) (45.4) (45.1) (A2.8)
A 4,470 4,498 4,323 4,626 4,723 253
(100.0) (100.0) (100.0) (100.0) (100.0) (A5.7)
i 418 435 403 426 419 1
= (46.7) (47.3) (46.2) (45.9) (46.3) (A0.2)
e ot 478 484 469 503 486 8
e < (53.3) (52.7) (53.8) (54.1) (53.7) (ALT)
A 896 919 872 929 905 9
(100.0) (100.0) (100.0) (100.0) (100.0) (A1.0)
i 505 467 510 551 522 17
= (47.2) (47.2) (49.4) (49.3) (49.0) (A3.4)
s ot 564 523 523 566 544 20
e ° (52.8) (52.8) (50.6) (50.7) (51.0) (¥3.5)
A 1,069 990 1,033 1,117 1,066 3
(100.0) (100.0) (100.0) (100.0) (100.0) (v0.3)
i 730 714 734 746 770 40
= (42.5) (41.6) (42.1) (42.1) (43.8) (A5.5)
. ot 987 1,004 1,010 1,025 986 -1
(57.5) (58.4) (57.9) (57.9) (56.2) (v0.1)
A 1,717 1,718 1,744 1,771 1,756 39
(100.0) (100.0) (100.0) (100.0) (100.0) (A2.3)
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2E1. AEZE #oxt F0]: 2349 127]~244 127

<E 11-1-3> 48 XEAY Hofx}p sdg F0: 23d 12| ~ 244 127|
(HeEtdE, ZASE, ZMUE, NFEUXK L, ZASHXK L)

(EH2l: E, % /| ASILVHL)

HASI|cH
= 234 234 234 234 2444 "
- yaol 2420 340 4al yal o
S :l('E)
i 613 654 666 648 678 65
= (40.6) (41.9) (43.6) (42.5) (43.7) (A10.6)
o ol 896 906 860 877 874 -0
(59.4) (58.1) (56.4) (57.5) (56.3) (w2.5)
A 1,509 1,560 1,526 1,525 1,552 43
(100.0) (100.0) (100.0) (100.0) (100.0) (A2.8)
i 856 878 878 906 940 84
= (46.3) (46.8) (47.0) (47.7) (48.7) (A9.8)
- ot 992 1,000 990 994 990 2
(53.7) (53.2) (53.0) (52.3) (51.3) (v0.2)
- 1,848 1,878 1,868 1,900 1,930 82
° (100.0) (100.0) (100.0) (100.0) (100.0) (A4.4)
" 1,353 1,340 1,377 1,409 1,403 50
= (47.8) (48.1) (48.9) (49.1) (49.3) (A3.7)
it ol 1,476 1,448 1,438 1,461 1,441 -35
e ° (52.2) (51.9) (51.1) (50.9) (50.7) (W2.4)
A 2,829 2,788 2,815 2,870 2,844 15
(100.0) (100.0) (100.0) (100.0) (100.0) (A0.5)
Cixd 217 222 215 214 223 6
= (51.4) (52.1) (52.1) (51.7) (52.0) (A2.8)
. ot 205 204 198 200 206 1
(48.6) (47.9) (47.9) (48.3) (48.0) (A0.5)
A 422 426 413 414 429 7
(100.0) (100.0) (100.0) (100.0) (100.0) (AL.7)
i 813 808 780 815 792 21
= (46.2) (46.9) (46.4) (46.4) (45.7) (¥2.6)
Jtel ot 946 915 902 941 941 5
(53.8) (53.1) (53.6) (53.6) (54.3) (v0.5)
A 1,759 1,723 1,682 1,756 1,733 -26

(100.0) (100.0) (100.0) (100.0) (100.0) (W1.5)
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2) 8 XSG HoXL AZ(FHeIR)

Eql. MEY Ho{xt =0|:

234 187|~244 187

ol - Sl AT 13 1URE STk 277K olF oA XfE22AR0]| Hofst o[2io] U= Hofxle| £
<E 11-2-1> M4¥ XA ®oXt &5 g F0[: 239 127| ~ ‘244 1327|
(M2E8BA|, 2a8dA, A, AMBHN, BFHHA|, fHEHA])
(SRl . % / ASILWLA)
g 234 234 234 234 244 HASI|CHY|
= 1/4%7| 2/427| 3/427| 4/427| 1/4%7| SH(E)
b 3,888 4,725 5,510 6,371 4,105 217
=e (60.9) (61.5) (62.1) (62.7) (62.8) (A5.6)
M2 A 2,496 2,959 3,358 3,793 2,432 -64
= o:lo
(39.1) (38.5) (37.9) (37.3) (37.2) (v2.6)
A 6,384 7,684 8,868 10,164 6,537 153
(100.0) (100.0) (100.0) (100.0) (100.0) (A2.4)
b 1,414 1,809 2,214 2,558 1,607 193
=< (47.1) (49.0) (50.4) (51.6) (49.5) (A13.6)
e o 1,585 1,882 2,176 2,398 1,641 56
(52.9) (51.0) (49.6) (48.4) (50.5) (A3.5)
Al 2,999 3,691 4,390 4,956 3,248 249
(100.0) (100.0) (100.0) (100.0) (100.0) (A8.3)
A 1,132 1,298 1,488 1,630 1,280 148
=e (52.0) (51.9) (52.7) (53.3) (54.4) (A13.1)
o o4 1,044 1,202 1,334 1,429 1,072 28
(48.0) (48.1) (47.3) (46.7) (45.6) (A2.7)
A 2,176 2,500 2,822 3,059 2,352 176
(100.0) (100.0) (100.0) (100.0) (100.0) (A8.1)
e 1,275 1,511 1,686 1,830 1,266 9
=e (52.8) (54.2) (54.5) (54.6) (53.4) (v0.7)
ol o 1,139 1,279 1,406 1,520 1,107 32
(47.2) (45.8) (45.5) (45.4) (46.6) (¥2.8)
Al 2,414 2,790 3,092 3,350 2,373 41
(100.0) (100.0) (100.0) (100.0) (100.0) (w1.7)
e 804 1,006 1,179 1,348 813 9
=e (44.5) (45.9) (46.7) (47.3) (44.7) (A1)
b o4 1,001 1,187 1,346 1,502 1,004 3
T < (55.5) (54.1) (53.3) (52.7) (55.3) (A0.3)
A 1,805 2,193 2,525 2,850 1,817 12
(100.0) (100.0) (100.0) (100.0) (100.0) (A0.7)
i 423 549 687 813 439 16
=° (46.1) (47.3) (48.4) (49.4) (46.4) (A3.8)
i o 495 612 731 832 507 12
(53.9) (52.7) (51.6) (50.6) (53.6) (A2.4)
Al 918 1,161 1,418 1,645 946 28
(100.0) (100.0) (100.0) (100.0) (100.0) (A3.1)
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<H [1-2-2> ¥ XA Ho{x} +H

SLHEHA, M

=EH
s

XEX|Al, EI|E,

22|, ASY ZHo{xt 0| 23 187]~244 127

3 X0|: 239 187] ~ 244 187|
SHEE SHUE HEEHIIKE)

(EH2l: E, % /| ASILVHL)

HAZ|CH
= 234 234 234 234 244 "
. 1/4271  2/487]  3/427] 440 1a®Il
ZU(E)
Cia 389 434 472 507 372 -17
= (49.8) (50.1) (49.6) (49.7) (49.4) (W4.4)
ou ot 392 433 479 513 381 -11
= e (50.2) (49.9) (50.4) (50.3) (50.6) (v2.8)
A 781 867 951 1,020 753 28
(100.0) (100.0) (100.0) (100.0) (100.0) (¥3.6)
i 66 79 88 98 69 3
= (48.9) (50.0) (50.6) (49.7) (45.4) (A4.5)
N ot 69 79 86 99 83 14
© e (51.1) (50.0) (49.4) (50.3) (54.6) (A20.3)
A 135 158 174 197 152 17
(100.0) (100.0) (100.0) (100.0) (100.0) (A12.6)
" 2,400 2,881 3,278 3,809 2,595 195
= (53.7) (54.1) (54.4) (55.2) (54.9) (A8.1)
2] ol 2,070 2,440 2,750 3,001 2,128 58
e < (46.3) (45.9) (45.6) (44.8) (45.1) (A2.8)
A 4,470 5,321 6,028 6,900 4723 253
(100.0) (100.0) (100.0) (100.0) (100.0) (A5.7)
i 418 503 553 620 419 1
= (46.7) (48.1) (48.2) (48.1) (46.3) (A0.2)
e ot 478 543 594 670 486 8
= © (53.3) (51.9) (51.8) (51.9) (53.7) (ALT)
A 896 1,046 1,147 1,290 905 9
(100.0) (100.0) (100.0) (100.0) (100.0) (A1.0)
i 505 575 705 786 522 17
= (47.2) (47.9) (49.5) (50.0) (49.0) (A3.4)
s ot 564 626 719 787 544 -20
e= < (52.8) (52.1) (50.5) (50.0) (51.0) (¥3.5)
A 1,069 1,201 1,424 1,573 1,066 3
(100.0) (100.0) (100.0) (100.0) (100.0) (v0.3)
i 730 826 926 1,019 770 40
= (42.5) (42.6) (43.1) (43.6) (43.8) (A5.5)
i ot 987 1,113 1,224 1,319 986 -1
= e (57.5) (57.4) (56.9) (56.4) (56.2) (v0.1)
A 1,717 1,939 2,150 2,338 1,756 39
(100.0) (100.0) (100.0) (100.0) (100.0) (A2.3)
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2. AEE BHR F0: 23W 127]~24H 187

<HE 11-2-3> 48 XEAY Hojx}p sdg F0: 23d 127 ~ 244 127|
(HeEtdE, ZASE, ZMUE, NFEUXK L, ZASHXK L)

(EH2l: E, % /| ASILVHL)

HAST|c
= 234 234 234 234 2444 "
- 14271 2/4201 34871 44 Al o
S :l('E)
Cia 613 728 827 885 678 65
= (40.6) (42.5) (43.8) (44.0) (43.7) (A10.6)
it ol 896 986 1,060 1,125 874 -0
= ° (59.4) (57.5) (56.2) (56.0) (56.3) (w2.5)
A 1,509 1,714 1,887 2,010 1,552 43
(100.0) (100.0) (100.0) (100.0) (100.0) (A2.8)
i 856 989 1,108 1,211 940 84
= (46.3) (47.0) (47.2) (47.7) (48.7) (A9.8)
- ot 992 1,117 1,241 1,328 990 2
° ° (53.7) (53.0) (52.8) (52.3) (51.3) (v0.2)
- 1,848 2,106 2,349 2,539 1,930 82
° (100.0) (100.0) (100.0) (100.0) (100.0) (A4.4)
" 1,353 1,609 1,853 2,061 1,403 50
= (47.8) (48.9) (49.9) (50.5) (49.3) (A3.7)
o ol 1,476 1,679 1,862 2,023 1,441 -35
e ° (52.2) (51.1) (50.1) (49.5) (50.7) (W2.4)
A 2,829 3,288 3,715 4,084 2,844 15
(100.0) (100.0) (100.0) (100.0) (100.0) (A0.5)
i 217 267 296 340 223 6
= (51.4) (52.3) (51.8) (52.7) (52.0) (A2.8)
. ot 205 244 275 305 206 1
(48.6) 47.7) (48.2) (47.3) (48.0) (A0.5)
A 422 511 571 645 429 7
(100.0) (100.0) (100.0) (100.0) (100.0) (AL.7)
i 813 930 1,027 1,121 792 21
= (46.2) (47.8) (48.6) (49.0) (45.7) (¥2.6)
212l ot 946 1,016 1,087 1,166 941 -5
= ° (53.8) (52.2) (51.4) (51.0) (54.3) (v0.5)
A 1,759 1,946 2,114 2,287 1,733 -26

(100.0) (100.0) (100.0) (100.0) (100.0) (W1.5)
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A

I Eoixt sHEh(EH)

7| Sot 3t Ol KIZ2EAIRI0N Hof2t O2i0] Q= HOiRE 2

=
(MSSEAl, BMZA, (HFZAA)

(Ex:

Z0|: 234 187| ~ ‘244 187]

22|, NEY Hox &0[: 23 187|~244 187

l: E, % /| ASILVUY)

g 234 234 234 234 244 HASI|cH]|
= 1427 2/427]  3yAI| 4427 1427 SUE)
1 7 5 1T 0 T
M| O]9k
204 D (00) 0.) 02) 02) 00) (V1000
311 309 208 315 307 4
M| - A
20M - 29M| (4.9) (5.0) (5.0) (4.8) 4.7) (W13)
39 389 377 408 404 2
M| - A
30l - 39M 6.0) 6.3) 6.3) 6.2) 6.2) (A5.8)
972 1,002 930 1,069 968 4
M2 M| - A ) )
1= AOM| - 49AI (15.2) (16.1) (15.5) (16.3) (14.8) (¥0.4)
2 544 2488 2474 2759 2577 3
A _ A $) $] ¢l ) $)
S04l - 594 (39.8) (40.0) (413) (42.1) (304)  (AL3)
60 o1 2174 2,022 1.901 1,998 2281 107
< (34.1) (32.5) (31.7) (30.5) (349)  (A49)
A Total 6,384 6.217 5,989 6,560 6,537 153
(1000)  (1000)  (1000)  (100.0)  (100.0)  (A24)
) 6 12 14 ) 0
A u]3
204 DI 0.1) 0.2) 0.4) 0.5) 0.1) 0.0)
265 270 271 22 255 10
M| - A
204 - 294 88) (8.9) (8.9) (7.8) (7.9) (¥38)
247 243 257 249 260 13
M| - A
30l - 39M (8.2) (8.0) (8.5) (8.0) (8.0) (A5.3)
578 611 610 630 612 3
H A} _
aC 40| - 49M (19.3) (202) (20.1) (203) (188)  (A59)
1128 1127 1181 1256 1289 161
A _ A ) $] $] b $)
S04l - SoM (37.6) (37.3) (39.0) (40.5) (07)  (A143)
60 Ol 779 764 700 710 830 51
< (26.0) (253) (23.1) (22.9) (256)  (A65)
A Total 2,999 3021 3031 3101 3248 249
(1000)  (1000)  (1000)  (100.0)  (1000)  (A823)
0 0 ) ) 1 1
A u]3
204 DIE! 0.0) 0.0) 0.1) 0.1) 0.0) i
122 118 111 114 107 15
M| - A
20M| - 29M| (5.6) (5.4) (5.1) (5.0) (4.5) (v123)
145 152 167 185 193 43
3041 - 394 6.7) (7.0) (7.7) (8.1) 82  (A331)
374 388 38 402 39 18
= A0M - 49H (17.2) (17.8) (17.6) (17.5) (167)  (A48)
877 863 865 952 930 53
Ml - A
S0M - 594 @03) (7 (398 (@415 (305  (A6)
60l Ol 658 654 648 641 729 7
S (30.2) (30.1) (29.8) (27.9) (310)  (A108)
A Total 2176 2175 2175 2296 235) 176
(1000)  (1000)  (1000)  (100.0)  (100.0)  (A8.1)
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2. AEE BHR F0: 23W 127]~24H 187

<E 11-3-2> A" KA Hojxp sig F0]: 23 127] ~ 244 127]
(QIHTA|, BRI, CHHTAA|)
(B2 2 0 / AZTLWZIA)
FSECSTT
e 234 234 234 231 241 .
- Y427l 2/4201 3/4R01 4R /ARl 2)
204 Tjet 2 3 3 8 0 2
(0.1) (0.1) (0.1) (0.3) (0.0 (¥100.0)
171 163 166 178 153 -18
M| - A
204 - 29M| (7.1) 6.6 (7.0 (7.5) 64  (¥105)
177 198 197 210 192 15
M| - A
304 - 394 (7.3) 8.1) 83) (8.8) 1)  (A85)
482 517 506 501 492 10
o|x{ M| - A
o 40| - 40H (20.0) (2L.1) (212) (L.1) 207)  (A21)
866 878 871 851 865 -1
M| - A
S04 - 59 (35.9) (35.8) (36.5) (35.8) (365  (V0.)
. 716 694 643 626 671 45
S (29.7) (28.3) (269) (26.4) (283  (V63)
A 2,414 2,453 2,386 2,374 2,373 -41
(100.0) (100.0) (100.0) (100.0) (100.0) (W1.7)
204 O[gt 1 2 3 13 3 2
(0.1) (0.1) (0.2) (0.7) (0.2) (4200.0)
156 161 167 169 153 -3
M| - A
204 - 29M 86) ©.0) ©3) 8.9) 84)  (V19)
192 187 200 210 199 T
M| - A
304 - 39A| (10.6) (10.4) (11.1) (11.1) 110 (A3
407 391 386 419 388 -19
apx M| - A
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6041 01 510 553 595 643 524 14
© (29.7) (28.5) (27.7) (27.5) (29.8) (A2.7)
1,717 1,939 2,150 2,338 1,756 39

& (100.0) (100.0) (100.0) (100.0) (100.0) (A2.3)
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<H |1-4-5> HHE XA HOXF £ s F0[: ‘23 1827] ~ 244 127
(MatyE, Zase, A
(CH9) B 0 / AZTLWZA)
g 234 234 234 234 244 HAZSI|CHH|
= Yass| 2427 ARl 4=l 1427 SAE)
1 2 5 5 3 2
Al Ojat
204} 1l (0.1) 0.1) 03) 03) 02)  (A2000)
97 125 141 155 91 6
M - A
20M] - 29| (6.4) (7.3) (7.5) (7.7) (59) (¥62)
136 157 181 194 160 2
304 - 394 9.0) 9.2) 9.6) ©.7) (103) (A7)
208 330 365 393 20 6
Tt Ml - 49K
40K - 494 (19.7) (19.3) (19.3) (19.6) (188)  (¥20)
440 508 568 614 434 44
M - A
504l - 594 (292) (29.6) (30.1) (30.5) (312)  (A100)
N~ 537 50 627 648 52 15
¢ (35.6) (34.5) (33.2) (32.2) (336)  (V28)
’ 1509 1714 1.887 2,010 1552 43
(1000)  (1000)  (1000)  (1000)  (1000)  (A28)
0 5 6 8 0 0
A| O|Ot
2041 oft 0.0) 02) 03) 03) 0.0) 0.0)
128 143 157 176 114 14
204 - 294 69) (6.8) 6.7) (69) 59  (¥109)
136 17 200 27 175 39
N — A
304 - 394 (7.4) (82) (8.5) (89) ©1)  (A287)
359 438 492 529 349 10
PL Ml - 49K
85 A0K| — 494 (19.4) (20.8) (209) (20.8) 181  (v28)
581 646 733 786 50 11
S0M ~ 59M (31.4) (30.7) (31.2) (31.0) (30.7) (AL9)
- 644 702 761 813 700 56
S (34.8) (33.3) (32.4) (32.0) (363)  (A87)
’ 1848 2,106 2,349 2539 1,930 82
(1000)  (1000)  (1000)  (100.0)  (100.0)  (A44)
5 7 13 17 8 3
ot
204 O/t 02) 02) 03) 04) 03  (A600)
190 234 267 304 187 3
N — A
204 - 294 (6.7) (7.1) (72) (74) (6.6) (V16)
243 204 341 384 240 3
M - A
30MI - 394 (8.6) (89) 92) (9.4) (8.4) (V12)
522 614 692 776 57 5
4 Lt _
88 40K~ 494 (18.5) (18.7) (18.6) (19.0) (18.5) (AL0)
910 1074 1231 1348 920 10
A _ A ) ) $)
S04~ 59M (32.2) (32.7) (33.1) (33.0) (32.3) (AL1)
N~ 959 1065 1171 1255 962 3
¢ (339) (324) (31.5) (30.7) (338)  (A03)
’ 2,829 3288 3715 4,084 2844 15
(1000)  (100.0)  (100.0)  (1000)  (1000)  (A0S5)

85



22|, NEY Hox &0[: 23 187|~244 187

<E 11-4-6> HYE XY Hox £ oig F0]: 23W 127| ~ 244 127]
(MIFEEERK =, ZASEXK|E)

(THel: &, % / ASILvED)

g 2314 2314 2314 ‘2314 244 HASI|cHH|
= 1487 2/487]  3/427] 4427 1/aE)| BB
I 4 7 9 1 0
A ojet
204 0] 02) (0.8) (1.2) (1.4) (0.2) (0.0)
33 42 46 57 34 1
N - A
2041 - 204 (7.9 8.2) 8.1) ©8) (19 (A30)
24 27 34 46 26 2
AN — A
3041 = 394 (5.7) (53) (6.0) (7.) 61)  (A83)
~ ) 70 9 105 120 82 12
s AOMI - 49K (16.6) (17.6) (18.4) (18.6) (19.1)  (AIT.1)
152 183 201 220 147 5
N - A
S04 = 594 (36.0) (35.8) (352) (34.1) (343 (v33)
501 Ol 142 165 178 193 139 -3
S (33.6) (32.3) (31.2) (29.9) (324) (v2.1)
A 422 511 571 645 429 7
(100.0) (100.0) (100.0) (100.0) (100.0) (ALT)
M| 0|2k
204 Ojet (0.0) (0.1) (0.2) (0.3) (0.1) -
117 133 146 158 106 -11
AN — A
20M| - 29A| (6.7) (6.8) (6.9) (6.9) (6.1) (¥9.4)
127 136 150 161 118 -9
304l - 394 (72) (7.0) (7.1) (7.0) (6.8) (v7.1)
282 316 348 386 265 -17
7t9| N - A
cE AOMI - 40A (160) (162 (165 (169 (153 (V60
489 557 611 673 514 25
AN — A
S0Al - 59 (278)  (286) (289 (94  (97) (A5
. 744 803 854 901 728 -16
< (42.3) (41.3) (40.4) (39.4) (42.0) (v2.2)
1,759 1,946 2,114 2,287 1,733 -26

& (100.0) (100.0) (100.0) (100.0) (100.0) (V1.5
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HL
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izl : ol 27| St 512 Of RLIZARION HOft O[Z0] U= MoKt &
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<E 11-5-1> HEREH xjetAtd 2ojx}t sig Z0]: 234 127] ~ 244 1827]
(MESEN, Bizel, tiaZeiA)
(T &, % / ASTLWZA)
iy 234 23 234 234 244 HAESI|chy|
. 14271 2/4271 34271 4487 1/487]  BU(B)
ARt TRl 1820 1720 1630 1528 1732 57
SERNE (28.6) (28.1) (7.4) (23.3) (26.5) (¥5.3)
S 3332 3374 3339 4,079 3579 247
R (52.2) (34.3) (35.8) (62.2) (54.7) (AT4)
AN 3%t 15 18 20 20 28 13
= T4 (0.2) (0.3) (0.3) (0.3) (0.4) (A86.7)
e B 920 821 755 712 919 1
Ne £ S (14.4) (132) (12.6) (10.9) (14.1) (v0.1)
e 288 255 236 01 279 9
Chy (45) (4.1) (3.9) (34) (423) (w3.1)
E o 0 0 0 0 0 0
S8l 7= (0.0 (0.0) (0.0) (0.0) (0.0) (0.0)
e 0 0 0 0 0 0
e (0.0 (0.0) (0.0) (0.0) (0.0) (0.0
i 6,384 6,217 5,989 6,560 6,537 153
(100.0)  (1000)  (1000)  (1000)  (100.0)  (A24)
e 934 918 894 812 880 54
=trE (3L1) (30.4) (29.5) (26.2) (27.1) (¥5.8)
S 1330 1438 1518 1714 1576 246
EUTTE (44.3) (47.6) (30.1) (85.3) (485)  (A185)
A 22Xt 6 4 10 7 11 5
= T 02) (0.1) (0.3) 0.2) (03) (A8323)
" 509 451 417 389 547 33
"™ =S (17.0) (14.9) (13.8) (12.5) (16.8) (A7.5)
T oo 220 210 192 179 234 14
i (73) (7.0 63) (5.8) (7.2) (A6.4)
= . 0 0 0 0 0 0
Al 7 (0.0 (0.0) (0.0) (0.0) (0.0) (0.0)
e 0 0 0 0 0 0
= (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
- 2999 3021 3,031 3,101 3248 249
(1000)  (1000)  (1000)  (100.0)  (100.0)  (A83)
Slp ARt 824 792 770 759 795 229
SLRE (37.9) (36.4) (35.4) (33.1) (33.8) (¥3.5)
- 857 909 954 1104 979 122
EOFTE (39.4) (41.8) (43.9) (48.1) (416)  (A142)
AN 23R 15 15 17 17 16 1
SIE (07) (0.7) (0.8) (0.7) (0.7) (A6.7)
e B 304 284 255 240 358 54
o= £ S (14.0) (13.1) (11.7) (10.5) (152)  (A17.8)
xabe) 176 175 179 176 204 28
e (8.1) (8.0) (8.2) (1.7) (8.7) (A15.9)
= . 0 0 0 0 0 0
S8l 7t (0.0 (0.0) (0.0) (0.0) (0.0) (0.0
My 0 0 0 0 0 0
e (0.0 (0.0) (0.0) (0.0) (0.0) (0.0
A 2176 2175 2175 22% 2352 176
(100.0)  (100.0)  (100.0)  (100.0) _ (100.0) (A8l
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<HE [1-5-2> BXAEE XEAY HOjxt #g F0]: 234 187| ~ ‘244 127]
(AHBHA|, SFHA, fHBHA)
(Er2l &, % / ASTLWAL)
g 234 234 234 234 244 HASI|CHY|
= 1/457| 2/427| 3/4271  4/427| /48271 IHB)
olut AT} 726 693 668 621 620 -106
s=TH (30.1) (28.3) (28.0) (26.2) (26.1) (W14.6)
xABATR 984 1,116 1,137 1,224 1,115 131
—eTTH (40.8) (45.5) (47.7) (51.6) (47.0) (A13.3)
Al A3xt 2 3 4 2 1 -1
=T= (0.1) (0.1) (0.2) (0.1) (0.0) (¥50.0)
e Ea 541 482 428 390 472 -69
ol 4] == (22.4) (19.6) (17.9) (16.4) (19.9) (¥12.8)
== Kpatel 161 159 149 137 165 4
< (6.7) (6.5) (6.2) (5.8) (7.0) (A2.5)
= o 0 0 0 0 0 0
el 7= 4 (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
H|a 2%t 0 0 0 0 0 0
(0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Al 2,414 2,453 2,386 2,374 2,373 -41
(100.0) (100.0) (100.0) (100.0) (100.0) (W1.7)
olut AT} 778 740 712 700 742 -36
s=TH (43.1) (41.2) (39.6) (36.9) (40.8) (V4.6)
xASADR 728 785 842 949 793 65
=TT (40.3) (43.7) (46.8) (50.0) (43.6) (A8.9)
Al ASxt 6 8 5 7 5 -1
=T= (0.3) (0.4) (0.3) (0.4) (0.3) (v16.7)
e Ea 146 131 118 121 155 9
- = = (8.1) (7.3) (6.6) (6.4) (8.5) (A6.2)
ST Kpatel 147 134 122 120 122 -25
ST (8.1) (7.5) (6.8) (6.3) (6.7) (W17.0)
= o 0 0 0 0 0 0
Sell 7t (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
uja 2%t 0 0 0 0 0 0
= (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
A 1,805 1,798 1,799 1,897 1,817 12
(100.0) (100.0) (100.0) (100.0) (100.0) (A0.7)
olut AT} 365 326 285 274 325 -40
s=TH (39.8) (36.5) (31.1) (27.7) (34.4) (W11.0)
xASADR 379 406 470 562 470 91
=TT (41.3) (45.4) (51.3) (56.8) (49.7) (24.0)
Al ASxt 6 10 7 5 2 4
=T= (0.7) (11) (0.8) (0.5) (0.2) (¥66.7)
e Ea 71 63 63 54 43 -28
o == (7.7) (7.0) (6.9) (5.5) 4.5) (¥39.4)
= Kpatel 97 89 2 95 106 9
ST (10.6) (10.0) (10.0) (9.6) (11.2) (A9.3)
= o 0 0 0 0 0 0
el 7= 4 (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
Hja 2%t 0 0 0 0 0 0
(0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Al 918 894 917 990 946 28
(100.0) (100.0) (100.0) (100.0) (100.0) (A3.1)
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<H 11-5-3> EEJ1E2E XI2AIY Hoxt sig F0[: 234 127| ~ 244 187]

(SLHEHA, MESEXRIA, F7|K)

(T2l E, % / ASILYED)

g 234 234 234 234 244 HASI|CHY|
= 1/457| 2/427| 3/4271  4/427| /48271 IHB)
olutA Tt 198 186 171 175 204 6
==TH (25.4) (24.0) (22.5) (23.6) (27.1) (A3.0)
xASADR 217 245 269 273 215 2
—TTH (27.8) (31.7) (35.3) (36.7) (28.6) (v0.9)
AM Azt 1 1 1 1 1 0
=TE (0.1) (0.1) 0.1) 0.1) 0.1) (0.0)
e Ea 203 191 178 161 181 22
oA = (26.0) (24.7) (23.4) (21.7) (24.0) (v10.8)
=t KAt 162 151 142 133 152 -10
T (20.7) (19.5) (18.7) (17.9) (20.2) (¥6.2)
- o 0 0 0 0 0 0
Sell 7t (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
e, 0 0 0 0 0 0
e (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Al 781 774 761 743 753 -28
(100.0) (100.0) (100.0) (100.0) (100.0) (¥3.6)
olutA T} 43 40 38 40 66 23
==TH (31.9) (28.0) (26.2) (25.8) (43.4) (A53.5)
xASADR 44 53 59 75 54 10
=TT (32.6) (37.1) (40.7) (48.4) (35.5) (A22.7)
AM A3 3 5 5 3 0 3
=TE (2.2) (3.5) (3.4) (1.9) (0.0) (¥100.0)
e Ea 23 2 20 18 13 -10
e == (17.0) (15.4) (13.8) (11.6) (8.6) (W43.5)
S KAt 22 23 23 19 19 3
T (16.3) (16.1) (15.9) (12.3) (12.5) (W13.6)
= o 0 0 0 0 0 0
Sell 7t (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
e, 0 0 0 0 0 0
= (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Al 135 143 145 155 152 17
(100.0) (100.0) (100.0) (100.0) (100.0) (A12.6)
olutA T} 1,759 1,685 1,572 1,510 1,640 -119
==TH (39.4) (37.5) (36.4) (32.6) (34.7) (¥6.8)
xABATR 1,779 1,937 1,953 2,345 2,055 276
—eTTe (39.8) (43.1) (45.2) (50.7) (43.5) (A15.5)
AM A3t 7 5 6 5 6 -1
=TE (0.2) (0.1) 0.1) 0.1) 0.1) (W14.3)
e Ea 500 472 419 378 588 88
27| - (11.2) (10.5) 9.7) (8.2) (12.4) (A17.6)
e KAt 425 399 373 388 434 9
ST (9.5) (8.9) (8.6) (8.4) (9.2) (A2.1)
= o 0 0 0 0 0 0
Sell 7t (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
e, 0 0 0 0 0 0
= (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Al 4,470 4,498 4,323 4,626 4723 253
(100.0) (100.0) (100.0) (100.0) (100.0) (A5.7)
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(30.7) (31.3) (35.4) (29.4) (A2.7)
8 6 7 6
(0.9) (0.7) (0.8) (0.7) (Vv14.3)
80 72 72 81
(8.7) (8.3)

(7.8 (9.0) (¥5.8)
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(18.6) (18.1)

(16.8) (18.1) (v0.6)
0 0 0 0
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2. AEE BHR F0: 23W 127]~24H 187

<H 11-5-5> EEJ1E2E KI2AIY Hoxt sig F0[: 234 127| ~ 244 187]
(MEtd e, 245, ZAUHL)

(T2l E, % / ASILwUL

’

g 234 234 234 234 244 HASI|CHY|
= 1/457| 2/427| 3/4271  4/427| 1/487] SHE
olataaxt 604 589 562 626 594 10
SCTH (40.0) (37.9) (36.8) (35.3) (38.3) (WL1.7)
AASADR 216 282 292 577 223 7
—rre (14.3) (18.1) (19.1) (32.6) (14.4) (A3.2)
NS5 17 18 17 19 19 2
= THE (1.1) (12) (1.1) (1.1) (12) (A11.8)
X2t Ea 62 55 53 218 74 12
st = = (4.1) (3.5) (3.5) (12.3) (4.8) (A19.4)
= xtAtel 610 616 602 331 642 kY)
< (40.4) (39.5) (39.4) (18.7) (41.4) (A5.2)
= o 0 0 0 0 0 0
el 7= 4 (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
BTt 0 0 0 0 0 0
(0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
» 1,509 1,560 1,526 1,771 1,552 43
(100.0) (100.0) (100.0) (100.0) (100.0) (A2.8)
olutaTxt 840 816 784 790 848 8
SCTH (45.5) (43.5) (42.0) (41.6) (43.9) (A1.0)
- 404 480 522 558 475 71
eTTeE (21.9) (25.6) (27.9) (29.4) (24.6) (A17.6)
NS5 19 19 17 17 18 -1
= TH (1.0) (1.0) (0.9) (0.9) (0.9) (¥5.3)
X2t Ea 189 167 156 145 170 -19
. = = (10.2) (8.9) (8.4) (7.6) (8.8) (v10.1)
o= xrAtl 39 39% 389 390 419 23
ST (21.4) (21.1) (20.8) (20.5) (21.7) (A5.8)
= o 0 0 0 0 0 0
el 7= 4 (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
BTt 0 0 0 0 0 0
(0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
» 1,848 1,878 1,868 1,900 1,930 8
(100.0) (100.0) (100.0) (100.0) (100.0) (A4.4)
SO 917 878 844 816 917 0
SETH (32.4) (31.5) (30.0) (28.4) (32.2) (0.0)
- 1,101 1,127 1,240 1,349 1,198 97
eTTE (38.9) (40.4) (44.0) (47.0) (42.1) (A8.8)
A& 3%t 6 7 4 6 7 1
(0.2) (0.3) (0.1) (0.2) (02) (A16.7)
X2t Ea 231 206 192 169 179 52
Hut == (82) (7.4) (6.8) (5.9) (6.3) (w22.5)
xrAtl 574 570 535 530 543 31
< (20.3) (20.4) (19.0) (18.5) (19.1) (¥5.4)
= o 0 0 0 0 0 0
Sell 7t (0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
BTt 0 0 0 0 0 0
T (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
» 2,829 2788 2,815 2,870 2,844 15
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<H I1-5-6> EEJE2E XI2AIY Hoxt sig F0]: ‘234 127| ~ ‘244 187]
(HIFEEXXE, ZASEEXKT)

(T2l E, % / ASILYED)

g 234 234 234 234 24 FMAST|CHH|
e 1/427| 2/427| 3/427| 4/427| 1/427| SH(E)
S 190 177 163 144 182 -8

-T= (45.0) (41.5) (39.5) (34.8) (42.4) (v4.2)
xHASADR 160 180 186 212 180 20
T (37.9) (42.3) (45.0) (51.2) (42.0) (A12.5)
AN ATt 2 4 3 3 2 0
(0.5) (0.9) (0.7) (0.7) (0.5) (0.0)
e =a 55 52 47 41 48 7
e (13.0) (12.2) (11.4) (9.9) (11.2) (Ww12.7)
xpare] 15 13 14 14 17 2
© (3.6) (3.1) (3.4) (3.4) (4.0) (A133)
- . 0 0 0 0 0 0
Sel 7t=d (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Hl 2} 0 0 0 0 0 0
(0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
Al 422 426 413 414 429 7
(100.0) (100.0) (100.0) (100.0) (100.0) (A1)
olura DRt 670 649 610 612 650 -20
=Te (38.1) (37.7) (36.3) (34.9) (37.5) (¥3.0)
xASATR} 423 434 455 554 452 29
—TTe (24.0) (25.2) (27.1) (31.5) (26.1) (A6.9)
A aaxt 2 2 1 1 2 0
(0.1) (0.1) (0.1) (0.1) (0.1) (0.0)
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2te) - (11.1) (10.9) (10.5) 9.3) (10.7) (¥5.1)
= xpare] 468 450 439 426 443 -25
© (26.6) (26.1) (26.1) (24.3) (25.6) (¥5.3)
- . 0 0 0 0 0 0
=H t=d (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
e 0 0 0 0 0 0
(0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
A 1,759 1,723 1,682 1,756 1,733 -26

(100.0) (100.0) (100.0) (100.0) (100.0) (V1.5
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(MEEEA, 24N, S HA|)
(CHel: B, % / ASILWZA)
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